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BREREE L2 0 m3 ol 60 870] 52,200 0 0 TE BT
L3 0 m3 ol 10 11,481 114,810 0 0 FE BT
FEEERL
EEER ML) 10 m2 8,990] 50 899] 44,950 10 899 8,990 1.00
EEmER (L) 70 m?2 50,190 70 717] 50,190 70 717 50,190] 1.00
EXXT
{EEIT
{EH 310 m3 75,330 670 243] 162,810 310 243] 75,330 1.00
HREL1 40 m3 122,840] 40 3,071 122,840 40 3,071] 122,840 1.00
HBRL2 0 m3 ol 10 7,991 79,910 0 0 FE BT
HERELS 110 m3 220,220] 250 2,002] 500,500 110 2,002] 220,220 1.00
HREL4 70 m3 484,540 100 6,922 692,200 70 6,922 484540 1.00
T ERR 140 m3 214,200] 340 1,530] 520,200 140 1,530] 214,200] 1.00
PEEET
Ty ANERET
LE 3 B¥H2000 6 m 422,760 6 70,460| 422,760 6 70,460| 422,760] 1.00
LAY B¥H2250 14 m 1,053,500] 14 73,750] 1,032,500 14 75,250] 1,053,500]  1.02
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Y& 6 6 12 10 34 8 8 16 12 44 1.29
B 10 10 24 28 72 13 13 30 34 90 1.25
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